
Do not scale from this drawing
To be read in conjunction with all other structural drawings and the structural specification
To be read in conjunction with all other relevant disciplines drawings and specifications
All levels, setting out, waterproofing and fireproofing to be confirmed with the Architect
The Contractor is responsible for the temporary stability of the existing and proposed
structure throughout the works. The sequencing and method of installation should be
carefully considered and the temporary works should be designed and detailed by a
suitably qualified person (appointed by the Contractor) prior to commencing the works
Contractor to request splices if required for handling purposes

1.
2.
3.
4.
5.

6.

General notes:

Proposed Ground Floor 
Construction Details

Studio 1, Three Eastfields Avenue, SW18 1GN

020 8191 8688  | www.structuraldesignstudio.co.uk

S300222083
Drawing no.Job. No.

Construction
Revision

C1

Drawing Title:

122 Castelnau, SW13 9EU
Project

1:50@A3 Jan 24 ED

Scale Date Drawn by Rev. no:

Any gaps to back of column to be
packed tight to masonry using
Weber Five Star non-shrink grout

Detail B1

35

50

60

60

50

Beam to have 203mm wide
x15mm thick welded end
plate bolted to column flange
using 6No M20 GR8.8 bolts

Column to have 15mm thick
welded cap plate bolted to beam
flange using 4No M16 GR8.8 bolts

All welds to be 6mm CFW

Adjacent to existing masonry:
Column fixed using M12 resin anchors @
450mm vertical centres staggered either
side of column web (100 embedment)
Adjacent to new masonry:
Column tied to blockwork using suitable
fixings (Ancon SDV frame cramps or similar)

100

10mm thick welded web
stiffener above column flange

35

35

35

Detail B5

Beam notched into web
of supporting beam

Supporting beam to have 8mm thick
welded web stiffener in line with web
of incoming beam

200mm wide x 150mm tall x 10mm
thick welded end plate bolted to web
of beam using 4No M16 GR8.8 bolts

35
Post to have 200mm long x 15mm thick
welded cap plate bolted to beam flange
using 2No M16 GR8.8 bolts (plate width
to match beam)

Detail B2

203 beam

Post to have 300mm tall x 10mm
thick welded back plate bolted to
beam flange using 2No M16 GR8.8
bolts (plate width to match beam)

All welds to be 6mm CFW

All welds to be 6mm CFW

Detail B3

Angles to be welded to post with
6mm CFW all around.

150x90x15 Angle
laid flat

Detail B4

3535

152UC with 10mm thick
welded end plate

152UC bolted to 203UC frame
using 4No M16 GR 8.8 bolts

TOS level TBC
by architect

All welds to be 6mm CFW

Detail B6

30

30

50

Beam notched into web
of supporting beam

Supporting beam to have 8mm thick
welded web stiffener in line with web
of incoming beam

200mm wide x 110mm tall x 10mm
thick welded end plate bolted to web
of beam using 4No M16 GR8.8 bolts

All welds to be 6mm CFW

TOS Levels shown indicatively. Architect to
confirm all steel levels and setting out details!

90x90x15 Angle
laid flat

Post to have fully welded 8mm
thick cap plate.


